September 23, 2019

Ch. 2 Test is on Wednesday.
Consider doing some review
questions ahead of time either by

starting the end of Chapter Review
Exercises or the Ch. 2 AP Exam.
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For each question, be sure to follow the steps for Normal Calculations from last class including drawing the
appropriate pictures and show the appropriate formulas. Remember: You get good at what and how you
practice! Practice good communication by making your solution logical to follow.

1. Are you worthy to be a University of Michigan Wolverine?

a) The distribution of scores on the math section of the SAT (out of 800) follows an approximately
Normal distribution with a mean of 508 and standard deviation of 110. The University of Michigan
has a recommended math SAT score of at least 730. What percent of students who took the math
SAT meet this requirement?
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c) Now write and interpret your answer.
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2. What SAT Math score would be necessary to be in the top}\s% .
Again, show your work following the steps from last class. =
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2. What SAT Math score would be necessary to be in the top j>5%

Again, show your work following the steps from last class. 1\6 oo
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Below are the Ch. 1 Tests scores of Sheldon HS AP Stat students this year, 2019.

(in percents)
97 89 85 S0 83 83 91
76 90 74 79 83 96 84
83 92 76 91 89 88 93
85 90 75 82

Enter the scores in L, in your graphing calculator




September 23, 2019

\/\/}\Y not -fechnology all Hhe time 2

Why? Later in the course, we will be
doing significance testing. The z-score
will be our standardized test statistic
and the area will be our P-value.
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Using statistical inference
procedures you will be able to
determineif 11 outof 12 is
good enough "prove" it.
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but

in order to do so, you will
have be sure the sample size
is adequate or that the data
is normally distributed

GroupA  Single Family Home Prices in certain city
Survival times of cancer patients after treatment
Number of Siblings for students in a statistics class

GroupB_ - nghway gas mlleage of 2018 for Honda Accords
= e bags of potato chips

H elhts of 3-year old glrls

SAT Scores




September 23, 2019

M\ Aggegs UU}HQW%@V o =et of

Koé(f\f Ada has an anDvoxﬁmaaLﬁ
normal chsteioution

Assess| n9 Nor m @my

AP Stats Lesson 2.2 - Day 3

Do we have Normal test scores?

Here are the Chapter 1 Test scores for 80 of the current AP Statistics students
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Is the distribution of Chapter 1 Test scores approximately
normal? Justify your answer using several different
approaches. The group with the most convincing

argument will win a prize. X
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Assessmg Normality
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1. The following figure is a Normal probability plot of the emissions of carbon dioxide (CO7)
per person in 48 countries. Use the graph to determine if this distribution of CO7 emissions is

approximately Normal.

Expected z-score
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CO; emissions (metric tons per person)
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Check Your Understanding:

1. The following figure is a Normal probability plot of the emissions of carbon dioxide (CO7)
per person in 48 countries. Use the graph to determine if this distribution of CO7 emissions is
approximately Normal.
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CO; emissions (metric tons per person)
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2. No space in the fridge?
The measurements listed below describe the usable capacity (in cubic feet) of a sample of 36 side-
by-side refrigerators (Consumer Reports, May 2010).

12.9 137 141 142 145 145 146 147 151 152 153 153 153
15.3 155 156 156 158 160 160 162 162 163 164 165 16.6
16.6 16.6 168 17.0 17.0 172 174 174 179 184

a) Enter the data into your calculator. Then make a graph that illustrates the distribution of
capacities (a histogram would be the best). Make a quick in the space below. How would you
describe the shape of the distribution?

No space in the fridge?
The measurements listed below describe the usable capacity (in cubic feet) of a sample of 36
side-by-side refrigerators (Consumer Reports, May 2010).

129 137 4] 142 145 145 146 147 151 152 153 153 153
155 155 156 156 158 160 160 162 162 163 164 165 166
166 166 168 170 170 172 174 174 179 184
—_— —_ —_— e —3 - — —_— 2 — 3

1. Enter the data into your calculator. Then make a graph of the data and sketch it in the space
below. How would you describe the shape of the distribution?
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2. Calculate one-variable statistics. Compute the percent of data
values that are within 1, 2, and 3 standard deviations of the mean.
How closely does this distribution follow the 68—95-99.7 rule?

2. Calculate one-variable statistics. Compute the percent of data values that are within 1, 2, and

3 standard deviations of the mean. How closely does this distribution follow the 68-95-99.7
mla?  meon = 15225 <D L2

maeon *| <D 5. 415 > V.2V

meon 1 <P 15.915 £ 20.20T)

meon £% Sb1 1697 £ 3(127)
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2. Calculate one-variable statistics. Compute the percent of data va
3 standard deviations of the mean. How closely does this distributi
rule? wmean = 15975 <p L2
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2. Calculate one-variable statistics. Compute the percent of data values that are within 1, 2, and
3 standard deviations of the mean. How closely does this distribution follow the 68-95-99.7
rule? Wwean = 15.925  <p L2070
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3. Make a normal probability plot of the capacities to verify
your findings.
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22 73,75,77,79, 81, 85-90 and
study pp. 131-136




